RRB ALP exam Shifts RRB - ALP Exams
09-August-2018 3rd Shift Asked Questions

SarkariExam.com

General Awareness

The chief administrative office of the UNO, which co-ordinates and
supervises the activities of the UNOQ, is — the secretariat

World's busiest airports by passenger traffic is — Hartsfield-Jackson
Atlanta International Airport, USA

The first NAM (Non-Aligned Movement) conference was held at —
Belgrade (Yugoslavia)

The credit of developing the polio vaccine goes to — Jones Salk

President Ram Nath Kovind visited the Army base camp in Siachen,
becoming the first President of India to visit the world’s highest battlefield
in 14 years. The previous visit was undertaken by .—APJ
Abdul Kalam

Name the state that has recently inaugurated its biggest solar power plant,

with a capacity of 1| MW at Energy Awareness Park. Arunachal Pradesh
The Airports Authority of India (AAI) had participated in the World ATM
Congress (WATMC) 2018 being held in .— Spain
Losar Festival is Buddhist community festival of .=
Arunachal Pradesh

NITI Aayog launched the Women Entrepreneurship Platform (WEP), on
the occasion of International Women’s Day. The WEP platform at NITI
Aayog was launched by . —Amitabh Kant

What is the Malaysia Capital? — — Kuala Lumpur




Common name of ‘Pond Silk> — spirogyra

According to recent findings, how many Moon does Jupiter have?
Which woman won the Australian Open 2018? — — Caroline W ozniacki (
Roger Federer (male))

Who is the Current Finance Minister — — Piyush Goyal

ATP Rank In No. 1 — — Rafael Nadal

Who is the CM of Nagaland (asked because Nagaland Issue was
important)? —

Who won Woman t-20 World Cup? — — West Indies

Miscellaneous

Math

Two stations A and B are 110 km apart on a straight line. One train starts
from A at 7 a.m. and travels towards B at 20 kmph. Another train starts
from B at 8 a.m. and travels towards A ata speed of 25 kmph. At what
time will they meet? — 10 a.m.

2.1f A =x% of y and B = y% of x, then which of the following is true? —
A=B

There were 03 ques from Geometry

3. Seats for Mathematics, Physics and Biology in a school are in the ratio 5
: 7 : 8. There is a proposal to increase these seats by 40%, 50% and 75%
respectively. What will be the ratio of increased seats? — 2 : 3 : 4Bar Graph
based DI Questions

Pipes & Cistern

Simplification

Circle

Speed,Distance & Time

Trigonometry




Time & Work
Trigonometry
Percentage
Mensuration ( Area )
Algebra

Average

Reasoning

One Question on Syllogism.

18 March 1900 which day?

One Question on No of Triangles.

3 Questions from Non-verbal Reasoning
Mirror Image/Water Image

Water Image

Counting of triangles

Logical Reasoning

Distance & Direction

Statement & Conclusion

Statement & Arguments

Calendar

Coding Decoding

Blood Relation

Counting of Triangles

Miscellaneous One Question on Syllogism.
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